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INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do ot accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes, you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page, Faulty booklets due
to pages/questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Wrile your Roll No., Answer-Sheet No., in the specified places
given above and put your signature,

Make all entries in the OMR Answer-Sheet as per-the given
instructions, otherwise Answer-Sheet will not be evaluated,
For each question in the Question Booklet chaose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only,

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . © @ If (B) is correct answer.

There are 100 objective type questions in this Booklet, All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in'the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer-Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate,
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited,
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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ECONOMICS - 11

ALY - 11

Which average is affected most by extreme

observations ?

(A) Mode

(B) Median

(C) Arithmetic Mean

(D) Geometric Mean

Monetary policy is determined by :
(A) RBI

(B) MPC

(C) Ministry of Finance

(D) All the above

Which is the quantitative method of credit
control from the following ?

(i) Bank Rate

(i) Open market operations

(i) Variable Reserve Ratio

(iv) Hire-Purchase Finance Regulation
Code :

(A) (@), (i), (iii), (iv)

(B) (1), (i1), (iii)

(C) (i) and (iii)

(D) (ii) and (iii)

)

F 1A = Hedi | gufad e g ?

(A) g+
(B) wifexem
(C) HHI WA

(D) TUIR WEA

Hifash Hifa o1 fufto fam s # -
(A) T 5% it $fean g
(B) wifges uiferst &2 g/
(C) for "3 g/

(D) ST G

= ¥ 9 =9 9 g A s gfeones
fafy &2

() FFH

(i) T FSR 1 glha
(iii) UREdvie fod s
(iv) o =i fam frama

‘q:ﬁ'.‘

(A) (), (i), (i), (iv)
(B) (i), (i), (i)
(C) (i) M (i)
(D) (i) ¥R (iii)
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According to Tendulkar Committee’s
report, poverty rate in India is :

(A) 30.2 percent

(B) 38.5 percent

(C) 37.2 percent

(D) 28.7 percent

If tastes are identical between two
countries, then the comparative
advantage is determined by :

(A) Supply conditions only.

(B) Demand conditions only.

(C) Supply and demand conditions.
(D) None of the above

Assertion :

‘IS" and ‘LM’ function is integrated

general equilibrium model between

Commodity and Money Markets.

Reason :

‘IS’ is equilibrium between Investment

and Saving which is Commodity market

and ‘LM’ is equilibrium between demand

for money (L) and Supply of money (M)

and it is money market.

(A) It is absolute interpretation of
Commeodity and Money market
equilibrium through interest rate
and income '

(B) Partial interpretation

(C€) Long-run interpretation

(D) No interpretation of Commodity
and Money market equilibrium

dge FHS #1 R ¥ eruR, wna o
TS T WE:

(A) 30.2 9faem

(B) 38.5 wfqwr

(C) 37.2 gfavma

(D) 28.7 gfaema

Ifg &t R F 9 w1 9w ¥ =
qerreHss ey i frei

(A) Faer smgfd 1 & g g &
(B) T T T vl g B ¥
(C) =yfd wsi w1 i vl gRy Bt 1
(D) 3w § | FE T8

fere .
IS AR ‘LM’ Weld 9% s Hg1 a9 o s
THIFHd A HIe Jied ¥ |

hIXUT ;

IS’ oW we s F o W RS
SR € SR LM’ &1 1 60 (L) wE g #
gt (M) &1 ASR % o= &1 Hqer 5

(A) % 9% STSR U HaT SR & 9 &
SY =N # W UE S F areEm [
Ui SR ¥ |

(B) Hifors =amEm

(C) <HehIel =arE

(D) %] ISR TS Hifgsh ISR St G s
HIE SATEAT T8l B & |

SPACE FOR ROUGH WORK / T% &1d & fod wme

Set - A

9210/TFU-ECO/ELG-11



In the case of a linear demand curve, if
one slides down from left to right, the
elasticity of demand for the commodity

(A) rises
(B) falls
(C) is zero

(D) is infinity

Meaning of “Pump-Priming” is :

(A) Action taken to stimulate an
economy during recession through
government spending

(B) Excess expenditure of government
during boom in economy

(C) Keeping the amount of expenditure
constant

(D) None of these

The locus of general equilibrium points of
exchange in a two-individual
two-commodity model is called :

(A) Consumption Contract Curve
(B) Production Contract Curve
(C) Social Welfare Function

(D) Transformation Curve

.

e o 9% & fawa o afe #E 9w #i
Tf a1d | FifEd it 97 fiwan §, =9 Sy
TG % | FT TR B

(A) “EAE
(B) fmarg

€ =
(D) =T

“qrg-yrefH '’ % e B R

(A) sreforaen § # & THY 39 Wreaifed
A & o3 fRd <17 aren Tt =9

(B) arefeman # oSt & wwy s A
T forar 9 o1e ST =

(C) =03 =t 9 1 feer v

(D) 39 9 ®iE &

fafma & g g 1 fagsll & uy
<) =fe & 75 Taia § W ¥, B Fwd |

(A) 3uHm Hfag 9%
(B) STRH wHfagT o
(C) WS HedmT Herd

(D) uReds =%
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10. Identify the correct statement/s : 10. W& FUA/FAA B T HIOC
(a) Share of primary sector in India’s (a) @¥1950-51 % foIQ WRa % FHel W],
GDP for the year 1950-51 was 55%. I@E (GDP) o wafied &35 1 55%
oI o |
(b) Share of primary sector in India’s (b) =¥ 2015-16 F foIT wra F A W
GDP for the year 2015-16 was 28%. I (GDP)H MfHes &5 F128% 1T
o
(c) Share of secondary sector in India’s (c) 42015-16 % faT YA &% Hehel Ble]
GDP for the year 2015-16 was 45%. 3% (GDP) # fgdfta &5 &1 45% W
o1
Code : &< :
(A) (a) only (A) A (a)
(B) (a) and (b) (B) (a) W (b)
(€) (a) and (c) (€) (a) W (c)
(D) (b) and () (D) (b) & (c)
11. As per new international poverty line of  11.  $1.25 ¥fa f&7 & 77 sfaeisdty whaft Tan
$1.25 per day, the number of poor people % STER, WNd ¥ 79 @il & e €
in India is :
(A) 456 million (A) 456 Taferma
(B) 426 million (B) 426 fufer=a
(C) 485.2 million (C) 485.2 fafa=sw
(D) None of the above (D) ST H | FE T8
SPACE FOR ROUGH WORK / 1% &4 & fod -
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12. Arrange the region of the world in 12. 9WA ¥ =9 2016-17 % Fra & rgen fava

decreasing order as per India’s exports in ¥ fafors &5 #1928 9 § s St |
2016-17.
(a) European Union Countries (a) T €9 F <
(b) African Countries (b) THE & <
(c) American Groups (c) erften TqE %F
(dj Asian Countries (d) TR <9
Code : &e :
(A) (9, (@), (b), (d) (A) () (@), (b) (d)
(B) (@), (@), (a). (b) (B) (d), () (a). (b)
©) (a), (b), (), (d) | € (@) (®) (9 (d)
(D) (©). (d), (@), (b) (D) (@), (d). (a), (b)
13. Ifa=3, r=2, then 9" term of a G.P. is : 13. A a=3,r=2% 99 39 G.P. J@a &1 99
HE B ;
(a)y 23n=1 (A) 2301
(B) "a2» : (B) 3.2¢
(C) 3.2n+1 (C) ' 3.2n+1
(D)-n3.28 1 (B 3203

14. Which one is not included in Budget = 14, & e 4 wftafed =& € :

deficit ?

(A) Revenue deficit (A) WSTEd =T

(B) Capital Budget deficit (B) TsHt TS =R

(C) Current Account deficit (C) e Grel =l

(D) Interest payment on public debt (D) WSl R0 T TS YT

SPACE FOR ROUGH WORK / T% &d & fod s
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15. Match the following : 15. Hﬁﬁﬁ Hifeu .

Budget 2019-20 TS 2019-20
(a) Capital Expenditure (i) 1.6% of (a) gsit =4 () 1.6% HFA =
GDP IR
(b) Fiscal Deficit (i) 3.13% of (b) TSTHMEAER (i) 3.13% HWEA W
GDP 3
(c) Interest Payment (iii) 3.3% of (c) =TS YT (iii) 3.3% Wher Fﬁ?i
GDP IS
(d) Shrink Tax Collection (iv) 0.3% of (d) 2018-19 8 F (iv) 0.3% el W
from 2018-19 GDP agelt § Hul 31g
Code : &
(@ () (o) (d) @@ (b) (o) (d)
(A) @ @) @ (@) (A) () () @) ()
(B) @) @) () (@) (B) (@) @) @ (v)
© O (@) (iv) (i) © @ @) @v) (i)
(D) ) @) (@) (iv) D) ) G) () (v)
16. Which Statement is correct about 16. HiHid 3TN ¥afH % g9y § $9 1 99
Marginal Propensity to Consume ? @ e
(a) M.P.C.is the rate of change in APC. (a) WHLIY. igd 3TEM yogfa #1 ofed
TEI '
(b) M.P.C. is always positive. (b) HmHiq SgAm vgfa g9 e Eet
® ;
() M.P.C. is more than unit. (c) Himia 3vdm wgfa T @ sifer 2t
2l
(d) M.P.C. of poor people is generally (d) TR E R ) e seE ygt S
high. B 1
Code : L T
(A) (a), (b), (c), (d) (A) (@), (b), (c), (d)
(B) (a), (b), (c) (B) (@), (b), (c)
© @) () (@) © @ (). (d)
(D) (@), (b), (d) (D) (a), (b), (d)

SPACE FOR ROUGH WORK / 1% &t & f&d e
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17,

18.

19.

The R2 of a regression of Y on X is equal
to zero indicates that :

(A) Xand Y are unrelated
(B) XandY are partially related
(C) XandY are linearly unrelated

(D) Uncertain relation

For the demand function Q4=10—P and
supply function Q$=3P-2, find
equilibrium price (P) and quantity (Q)

(A) P=3,Q=7
(B) P=7, Q=3
(C) P=2 Q=8

(D) P=8, Q=2

The Service Area Approach (SAA) was

implemented in India through

(A) IRDP
(B) Lead Bank Scheme

(C) Mahatma Gandhi National Rural
Employment Guarantee Scheme

(D) NABARD

17.

18.

19.

Y W X % wfeA # R2 Y 6 SUE
ared ¥

(A) X 3R Y sraafoa @

(B) X 3Ry stifers w9 § graifem
(©) X ¥Ry g w9 § srwfad €
(D) ffeaa T ®

Qd=10—P HFT He w1 Q5=3P—2 Ifd
T & ford ama ged (P) 99 A (Q)
e

(A) P=3,Q=7
(B) P=7, Q=3
(C) P=2,Q=8

(D) P=8,Q=2

wyra § widw TR A9E (SAA) F
g wEifa fwman

(A) STE.HRELEL (IRDP)
(B) Wi % WhH

(©) e M T A SR TRE
BIEE

(D) “&E (NABARD)
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20. The Simple Phillips Curve was attacked ~ 20. %ol fFferey o1 1 aneiraan #1 7 HifE
as suffering from : 9% ¥ difed o .
(A) Backward Looking expectations (A) fyset fom =t 3afig
(B) Money Illusion (B) Har9H
(C) Lack of Sufficient evidence (C) val@ Faq =i HHl
(D) Rational Expectations (D) THETE aTve
21. In his empirical test of comparative = 21. TEHIHS @Y & 3fiwe F T ¥ Suei
advantage, Wassily Leontief found that : e = wran £
(A) US. exports are capital-intensive (A) R fafd, s = gen § gsh
relative to U.S. imports. TEA S |
(B) U.S. imports are labour-intensive (B) omftet smam, frafa 1 g # 9w
relative to U.S. exports. TRAE
(C) U.S. exports are labour-intensive (C) rafEt frafd, smam #i g H g9
relative to U.S. imports. TEAE
(D) None of the above (D) I9Ea | | FE TE
22. Taxable capacity is a function of : 22, I GHA TF HeH €
(A) Income distribution (A) ™ fadwor 1
(B) Size of National Income (B) U AT F AHR H
(C) Size of Population (C) SHEA & R &
(D) All of the above (D) SuliFa |
23.  Which of the following organizations  23. frfafien ¥ & #F @ §Ue7 e 3w &
provide financial support to correct the g e | R ¥ T gema wem
imbalances in Balance of Payments ? FLAT §?
(A) World Bank (A) fowa d=
(B) IMF (B) AU Hg1 w
(C) GATT C) =
(D) WTO (D) fova =R e+
SPACE FOR ROUGH WORK / T% &4 & fod =g
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24.

25.

What can you say about the following
statements ?

(i) Rostow coined the term

‘demonstration effect’.

(i) Mydral put forward the theory of

social dualism.

Code :

(A) Both statement (i) and (ii) are
correct.

(B) Statement (i) is correct and

statement (ii) is incorrect.

(C) Statement (i) is incorrect and
statement (ii) is correct.

(D) Both statement (i) and statement (ii)
are incorrect.

Relatively high real interest rates in United
States tend to :

(A) decrease the foreign demand for
dollars, causing the dollar to
depreciate.

(B) decrease the foreign demand for
dollars, causing the dollar to
appreciate.

(C) increase the foreign demand for
dollars, causing the dollar to
depreciate.

(D) increase the foreign demand for
dollars, causing the dollar to
appreciate.

24,

25.

Freiferfia sl 3 it § a9 1 e T
¥

() TR A 'veE g9E’ W W S
e

(i) HESH 3 WEIfw goare fagia &1
prsicEfcEil

(A) T (i) #IR FUF (ii) I 94 T
(B) YA (i) I © 3R FYA (ii) A |
(C) A (i) 3T9A § 3R FHYUF (ii) TA T
(D) A (i) 3R FoA (ii) THT o7 ¥
Ife s # wmer &9 & =4 H1 ¥ wedt
T

(A) efer =t fareht @i A =t 2nft formd

EieR HHSIR 8 |

(B) =far =it fageht win § %+t arf fored
SleR Herad B |

(C) efer = faceht =i & gfg &rft fomd
e FHU=R E

(D) =fer =it farwht wtn # gfg it fomm
Sler TeTea 2 |
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26.

What can you say about the following  26.

Statements ?

(@) A monopolist shall always make
huge profits.

(b) A monopolist is the price maker.

Code :

(A) Statement (a) is wrong and
Statement (b) is correct.

(B) Statement (a) is correct and
Statement (b) is wrong.

(C) Both Statement (a) and Statement
(b) are correct.

(D) Both Statement (a) and Statement
(b) are wrong.

= few T Fori o a A o e wEy ¥ 2
(a) U THITHHR WA o Y el ¥ |
(b) U TR T Frufr &)

& :

(A) A (a) TOIE T 3R FYT (b) TE B
(B) A (a) WEl ¥ 3R F¥H (b) e T

(C) = FoH (a) 3R (b) T §)

(D) @i F¥F (a) 3 (b) e F

27. Which of the following is not a merit  27. %98 § 3 o1 ‘Jfe TE 7 &2
good ?
(A) Postal services (A) =T Hand
(B) Telecom services (B) TXHEAR Hamd
(C) Agricultural products (C) v 3w
(D) Railways (D) e
28. Expenditure on unemployment and  28. SRS 9 foien = e T =g &
education is :
(A) Transfer expenditure (A) TEIO =
(B) Administrative expenditure - (B) wwmHfTE =
(C) Necessary expenditure (C) =¥+ =99
(D) Economic expenditure (D) anfdis ==
SPACE FOR ROUGH WORK / T% &4 & fordt sog
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29.

30.

31.

For a stable competitive equilibrium,
which of the following conditions is
true ?

(A) MR=MC
(B) MR >MC

(C) MR=MC, and MC must intersect
MR from below.

(D) MR=MC and MC must intersect
MR from above.

The Kisan credit cards were introduced
in _ to facilitate mainly
credit to farmers.

(A) 1990-91, long term
(B) 1990-91, short term
(C) 1998-99, short term

(D) 1998-99, long term

According to the Census 2011, which of
the following state has the lowest child
sex ratio both in rural and urban area ?

(A) Uttar Pradesh
(B) Kerala
(C) Jammu and Kashmir

(D) Haryana

29.

30.

31.

Torft Tyufers ArEEe F 9] ° 7
FH-T TR ®?

(A) MR=MC
(B) MR >MC

(€) MR=MC, 3it MC ™ & MR %1
weeg &l ¢ |

(D) MR=MC 3T MC R ¥ MR %1
yfe=g H B |

feaMEl A °e ki RO gfaw
ye w3 * fou feum wfez & F
a9 § yRY e T

(A) < erafy, 1990-91
(B) o9 sEfd, 1990-91
(C) <Y Hafd, 1998-99
(D) < amafy, 1998-99

ST 2011 % FER freafated 4 @
HH | T & T TS v aEl A A
fem e fAeam €2

(A) ST ¥&™

(B) T

(C) = TH FYHR
(D) e

SPACE FOR ROUGH WORK / T% &4 & o e
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32. The probability of rejecting a null  32. TH HA Y UEHUA H FAHFR FH &
hypothesis when it is true is called : WITehal <l el ST ©
(A) Type I Error (A) <Y IFfe
(B) Type II Error (B) <9I Ffe
(C) Level of significance (C) Hreishal 1 T
(D) Inferential statistics (D) AgHI+s HifeTet
33. Statement : The current A/c balance is  33. 3fUHAF : YT § =16 BT F1 =12 FH &
declining in India because invisible (net) @ 7 FiE 2012-13 | 2016-17 H1 3@ty §
is increasing during 2012-13 to 2016-17. s1gva fayg wiieat ag @ ¥
Reason : Invisible(net) is increasing, so HRUT : 35YT foays Wit a3 W R W
current A/c deficit has reduced. HIU H = @ H e FH w e
Which is correct ? a7
(A) absolutely correct reason. (A) =R qUid: |E R
(B) Partially correct because the (B) niferr @t & Fifed TR @@
Government has controlled the [ERIECEEIE S
imports.
(C) Government has increased its (©) ¥R A frafa § oot & gfg =t &)
exports rapidly.
(D) None of these qi4(D) TE A FE T
34. Given that Marginal Propensity to 34, 3feHHr U4 ¥ 0.6 & w8 dr smam
Consume (MPC)=0.6 and Marginal ygfd 0.2 % @ Frafa o *1 5o &
Propensity to Import (MPM)=0.2, the
value of export multiplier is :
(A) 1.25 (A) 1.25
(B) 1.67 (B) 1.67
(C) 2.50 (C) 250
(D) 2.00 (D) 2.00
SPACE FOR ROUGH WORK / T% 14 & fog smrg
Set - A 9210/TFU-ECO/ELG-II



35.

36.

7.

Identify the true indicator of economic
growth.

(A) Rise in GDP at constant prices.

(B) Rise in GDP at current prices.

(C) Continuous rise in real per capita
income.

(D) GDP rising at a higher rate than the

population growth rate.

Swavalamban scheme is related to :
(A)
(B)
(©)

Employment
Pension

Small industry
(D) Food production

In a competitive commodity market, MRP
would be and shall normally

(A) MPP x MR, decline from left to right

(B) MPP X TR, rise from left to right

(C) MPPXMR, straight line parallel to
Y-axis
(D) MPP x MR, straight line parallel to

X-axis

35.

36.

37

el gfg F1 & ga& we=d |

(A) TR el W ¥ e TR (GDP)
¥ gfg |
M el T e =] 3E (GDP)
H gfs|
Fratas yfd =afe o ¥ 9aq 978 |

(B)

e 9ig ¥ s o W E e
36l § G |

‘Eraeied | A et €
(A) TIRA

B) frfe-ae &

() wgwEmd

(D) @ IART |

e SqHieas T ISR § MRP
# grEE: T § |

MPP x MR, aTd & €ifed &1 3T gahal
T

MPP x TR, a4 & gifgd & 3% g &

MPP x MR, Y-378 =] @HHid Tt
FRC & I i

MPP x MR, X-31&1 sl UM d%&
W e

(4)

(B)
(©)

(D)
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38. Linear programming is a problem of  38. Yf@® wwfti HFerd =t e € e &
optimization under : =
(A) Perfect competition (A) ot wfe=ifma &
(B) Oligopoly (B) sreqfersraiiysr H
(C) Many linear constraints (C) =3 &y drmai §
(D) Non-linear constraints (D) i@ el §
39. In Linear Programming Problems, 39. s Yaw T e § I2YT e adl
Objective function and Constraints are : o E
(A) Solved (A) M
(B) Linear (B) aa
(C) Quadratic (©) feurd=
(D) Non-linear (D) -z
40.  Whowrote the famousarticle “The market  40. ¥fHg or@ ‘T e B o=’ frgy o
for Lemons” ? 7?2
(A) Joseph Stiglitz (A) SEF feafaes
(B) Michael Spence (B) firdrer T
(C) George Akerlof (C) IS USHel®
(D) Rothschild (D) egETEeS
41. India’s position in world's agriculture ~ 41. I TFER 9 ¥ G § whE Ffy
with reference to coarse grains is : YA T TIF § :
(A) Third (A) &
(B) Second (B) THY
(C) Fourth (C) =ren
(D) First (D) g&em
SPACE FOR ROUGH WORK / 7% &Td & fod wme
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42.

43.

44,

45.

A situation where one party to a
transaction has better information than
the other party is called :

(A) Imperfect Information
(B) Perfect Information
(C) Symmetric Information

(D) Asymmetric Information

In Leontief Input-output model the
solution to X - output matrix is given by :

(A) (I+A)~lF
B (-A)'F
€ (@-AF
(D) (1—A)F

What is the nature of time path in the
equation Y, =3'+17

(A) Oscillatory and divergent
(B) Oscillatory and convergent
(C) Non-oscillatory and divergent

(D) Non-oscillatory and convergent

Which measurement of money supply is
used by RBI for policy-forming ?

(A) M,
(B) M,
©) M,
(D) M,

42.

43.

44.

45.

a5 Ted Wl T al H FEER T, TH
ey B o131 Tl €, B FEd €

(A) ool F=T
(B) o F=
(C) wHET g
(D) STEEET Yo

e ZAYE-3T=eE Hisd # X #¥eqe
Hfeam 1 FHEE T

(A) (+A)"'F
(B) (-A)'F
© (-AF
(D) (I—AYF

Tt v, =3t+1 § W WY F TF
Bt :

(A) e SR faeer

(B) e &R Sf

(©) IR S iR fa=em

(D) R S SR s

grdrs frsd o= % g Afa-famio & fag
Tt % form = 1 yEr fewn S e 2

(A) T, T
(B) UM, HETYf
(C) T, TR
(D) T, T

SPACE FOR ROUGH WORK / T @ & ford e
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46. Write in sequence as per their 46. THRT ¥ 7= w9 % @R fafed |
establishment.

(i) Corporate Securities Market (i) e gfayfa aeR
(i) National Stock Exchange (i) S LiF TFEE
(iii) SEBI (i) Hait

(iv) Bombay Stock Exchange (iv) T =i TaE s
Code : %e

(A) (i), (iv), (i), (i) (A) (i), (v), (i), @)

(B) (i), (i), (iii), (iv) (B) (i), (i), (i), (iv)
(©) (), (i), (), (i) (© (i), (i), (), (i)
(D) (i), (), (iii), (iv) (D) (i), (i), (iii), (iv)

47. If the value of p is very small and the 47. 3E p % HF 9gd & FA T 3 n F °H
value of n is substantially large, then the HAfH B O ITgE WA 5 2
suitable Probability Distribution will be :

(A) Binomial (A) fgu=

(B) Poisson (B) w@mEEA

(C) Normal (C) 9Em™H

(D) None of the above (D) HF d § FrE Tl

48. If the fiscal deficit of a government in one 48. ¢ U 9 H FIHR F Gohel ASTHNIY =2
year is ¥ 7,00,000 crore, Revenue deficit < 7,00,000 H?ﬂTs,’, st =121 ¥ 3,50,000 TR;ITS'
is ¥ 3,50,000 crore, and interest payment & A= YA T 2,80,000 ?’h‘fr&' g =g
is T 2,80,000 crore, than what is the oY TIHR T Wil e 9 2 ?
primary deficit of government in that
year ?

(A) ¥ 10,50,000 crore (A) ¥ 10,50,000 FIg
(B) ¥ 70,000 crore (B) 70,000 FUT
(C) ¥ 4,20,000 crore (C) T 4,20,000 FE
(D) ¥ 3,50,000 crore (D) ¥ 3,50,000 AT
SPACE FOR ROUGH WORK / 1% &4 & ferdt s
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49.

50.

51.

Which of the following would be 49,

excluded from GDP of 2015 ?
(A) The value of Lawyer’s Services

(B) Sale of shares in the Secondary
Market

(C) Sale of a Car made in Japan

(D) Interest Earned on F.D.

The concept of sustainable development  50.

was first given by :
(A) Brundtland
(B) Kindleberger

(C) Raul Prebisch

(D) Keynes

Balanced Budget Multiplier is : 51.
A) AY=&AG+&AT

@ AY= AG:-E(,:’&T

© AY= dGl—féAT)

(D) None of these

=1 5 ¥ 99 2015 FI GDP 1 70T § 9T
W@ TEE ?

(A) U =it I Har 1 5o
(B) Tgdita areik & SR =i famnt

(C) <M ¥ faftfa &R =t fas
(D) T ST 9 4TS it A1

YRty fawm gdvem fres g wfamfea
o T 2

(A) T=UE
(B) foeearit
(C) W« ufaw
(D) =¥

Hfera =12 U @ :

Tacs X° AT

-0 -C

o A

AG+C/AT

i 5

AG-C(AT)
1-C

(D) T8 | FE &

(et

SPACE FOR ROUGH WORK / T% &1 & fod sve
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52. Write in sequence as per their declaration 52,

by the Govt. of India.

(D

(i)
(1i)
(iv)

Liquidity Adjustment Facility
Market Stabilization Scheme
Repo Rate and Reverse Repo Rate

Marginal Standing Facility

Code :

(A)
(B)
©
(D)

53. Ifeg= and e ,=0 than incidence of tax  53.

(), (iid), (ii), (iv)
(i), (id), (iv), (i)
(1), (), (i), (iv)
(), (i), (iv), (i)

will be on :

(A)

All tax will be paid by consumer/
buyer

WRA TIHR ! H90T F SER 3= w9 o
fofa .

(i) e GHESE giae (LAF)

(i) AR feerdientor dsmT (MSS)

(i) e o wfees fd

(iv) Hrid = gfae

%<
(A) (@), (i), (i), (iv)
(B) (i), (i), (iv), (i)
(©) (i), (i), (i), (iv)
(D) (@), (i), (iv), (ii)

A ey =0 T e =0 A HT IR =7 :

(A) HYOf 9R e W v

(B)  All tax will be paid by seller (B) w¥yuf wr fashar w g
(C) Partial tax will be bear by consumer (C) 1o YR e W& faghen W woH &y
and seller equally q
(D) None of these (D) 70 9 =g 7E
54. Keynse's Multiplier is : 54. HI & U &
(A) Employment Multiplier (A) TSR Tores
(B) Investment Multiplier (B) fowr 1o
(C) Foreign Trade Multiplier (C) farsht =mR e
(D) Tax Multiplier (D) H-orR
SPACE FOR ROUGH WORK / T% %14 % o wre
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55. Match the following :
(a) Rajneesh Kumar (i) Governor of RBI

(b) Krishna Murti (ii) Chairman,

Subramaniyam NABARD

(c) HK. Bhanwala (iti) Economic Advisor
of Govt. of India

(d) Shashikant Das (iv) Chairman of SBI

Code :

@ (b () ()
(A) @) Gv) O @@
B) (v) @) (@) @
© @) @ @) @)
@ @ @ oo @

56. A country’s openness to International
trade can be measured by the formula :

(A) Exports+ Imports+ GDP
(B) Exports —Imports = GDP
(C) (Exports+ Imports) X GDP

(Exports + Imports)
() GDP

55. f=1 =1 T FI

(a) T PAR (i) S, TR
(b) Fomfd GoHUAH (i) T, RIEIS
(c) TEF. e (iif) TRd WER %
anfeie Helehi
(d) reiteRia T (iv) &= He AT e
& HA
ETE

@ (b (© (@
(A) @) @Gv) @ (@)
B) (v) (@) @ O
© @ @ @) @)
(D) () @) @) ()

56. Wﬂwﬁ@%ﬂ%@ﬂﬁ
ffefed g3 & A S @ :

(A) e 4+ ST + Heel B 3T
(B) T — 3T — Wbl R IS
(C) (Frafa + ) X Hehed o] IR

(fae + 3Amm)
D) gaper sty 5o

SPACE FOR ROUGH WORK / T® w4 & fo se
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57. Balanced Development suggests : 57. wfew fowm gfed @ €

(A) equal distribution of resources to all (A) Bt & F e Sl =1 wae fyae
sectors.

(B) all sectors growing at their natural (B) Wl &= v wnwifaw gfg . ™
growth rates. A B W R

(C) simultaneous development of all (C) wusft wifafaferal &1 e wermm @
activities supporting each other. AT T

(D) equal sustainable growth rate. (D) UM =& gfg )

58. Which of the following estimation  58. ¥T9d WHiFW Tieel ¥ aifurmifua Gt
techniques are available for the estimation & sifer § S W atfrem # fafy ERRCA
of over identified system of simultaneous Bt ?
equations model ?

(A) OLS (A) OLS
(B) ILS (B) ILS

(C) 2SLS (C) 2SLS
(D) 3SLS (D) 3SLS

59.  What was the first year in which property 59, §w=7a1 % WA § Yeet 9% fry a9 GIURED)

tax was introduced in India ? T o1 ?
(A) 1948 (A) 1948
(B) 1957 (B) 1957
(C) 1976 (C) 1976
(D) 1991 (D) 1991
SPACE FOR ROUGH WORK / % & % fad wmg
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60.

61.

Which of the following is not the

assumption of the Theory of Games ?

(A) There are finite sets of strategies
available to players.

(B) The players are aware of strategies
available to them and their
competitors.

(C) The players are intelligent and
rational.

(D) There are infinite sets of strategies
available to players.

The second stage of production
represents :

(A) TP rising slowly and corresponding
MP declining but positive

(B) TP falling and corresponding MP

negative
(C) TP rising rapidly  and
corresponding MP falling

(D) TP initially rising and then falling,
while corresponding MP is negative

60.

61.

e § Q=9 1 Bt g w1 Hed T e € 2

(A) Taenfed % wifaa e i gl =
.4

(B) Taemedl STk iR I waerefal 1
THeT 9Tt ot STEETE o |l H STEh
wAT!

() faerd gfgam i ofe @ T

(D) faenfedi #1 swifia wqe =1 gfwEl
W€

e & fedia e <vian §

(A) TP Hg Tfa & =gal & 3 g9 ATEY
MP 1= 1 S gl &, TTq U
wA T

(B) TP fiman ? &Y 39& 3T{®Y MP
FOHF Tl &

(C) TP ISl § 9 ¢ 3 39F 38T MP
i &1

(D) TP 9= ¥ oear & #it o ¥ fivan €
79 5% Y MP FUcHS @l ¢ |

SPACE FOR ROUGH WORK / 1% &d & fod s
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62. Match the following : 62. T ¥ #9 =ifsm :
(a) Repo Rate i 6.0% (a) foiye () 6.0%
(b) Reverse Repo Rate (i) 5.75% (b) wfaeim fdl 2 (i) 5.75%
(c) Marginal Standing (i) 4% () wmmefEnyfe (i) 4%
Facility
(d) Cash Reserve Ratio (iv) 5.5% (d) e FN FTIIE (iv) 5.5%
Code : % :
@ (b) () (d) @ (b) (g (d
(A) @) @Gv) @ ) (A) @) (@v) @) (i)
(B) (@) @) (@) (@ (B) (@) (@) @(v) (@)
© G@v) @) @ @) ©) Gv) @) @ ()
(D) @) @v) @) @) (D) () (v) @) ()
63. Equation of Harrod model is : 63. &S AEA F1 GHFW 2
S;=Sy,(Demand side) S, =Sy, (¥ 9ey)
1;=8(: ;1) (Supply side) It 8y~ Yy~ 1) (T T8)
then to establish equilibrium in the il srefezrereen # W 29 % fod S/ g W SRR
economy S/ g should be equal to : B w1
Yi1-Y 2
(A) t;t t (A) t;tyt
Yi-1— Vi Yi-1 =Yt
®) Y1 =Yt ®) Yi-1=Y¢
© Yt y&tlz -1 © Yt yift 1
ek Sl Yt
®) Ye-1= Yt ®) Yt-1 =Vt
SPACE FOR ROUGH WORK / T% &Td & fod wg
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64.

65.

66.

A competitive firm faces Price of ¥ 706
and Total Cost as 7Q?2+6Q +5, what
would be profit maximizing output ?

(A) Q=70
(B) Q=50
(C) Q=700

(D) Q=120

The trough of a business cycle occurs
hits its lowest points.

when

(A) Inflation
(B) The Money Supply

(C) Aggregate Economic Activity

(D) The Unemployment Rate

Following the Raghavan Committee
Report, the Government of India passed

an Act 188 to establish

(A) 2002, SEBI
(B) 2007, NITI Aayog
(€) 2002, Competition Commission

(D) 2000, Competition Commission

64.

65,

66.

& wiadrtt wH & o gea T 706 € 991 F
T e 7Q2 +6Q+5 B & oy Stfusan
IS 3T B ?

(A) Q=70
(B) Q=50
(C) Q=700

(D) Q=120

TH SATYR 9F H1 T4 99 gar & o

=g =Aaq fag W e B
(A) wFIfq

(B) T i Yfd

(C) ¥y =nfé frand

(D) SRR R

THEH U] o1 G o AT H YR TIHT
] #1 #1971 & fau ad
H s srfafm & @) e

(A) Fsft, 2002
(B) Hifa swEdm, 2007

(C) hifgfes™ =fH9M, 2002
(D) RITfeyH ®EeHE, 2000
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67.

68.

69.

Assertion : 67.

As per Phillips Curve, there is inverse

relationship  between rate of
unemployment and increasing rate of

Monetary Wage Rate.
Reasoning :

When demand for labour is more and

unemployment is very low, the wage rate

increases very sharply.

(A) Absolute
the
unemployment and wage rate.

interpretation  of

relationship between

(B) Partial interpretation.
(C) Short period analysis.

(D) No interpretation of the statement.

A tax of 15 per cent on an imported item 68.

is an example of :

(A) Ad valorem tariff
(B) Specific tariff

(C) Effective tariff
(D) None of the above

What are the forms of assistance that the 69.

World Bank provides to its members ?
(A) Technical and Financial

(B) Political and Financial

(C) Political and Economic

(D) None of the above

SR :

e 9 & SITER ST #1 & 0o
et Hifew weIgd % ot fagda dey
d

chI{UT :

& g9 I WA 31y § SR aieT s Ay
TG ST dsit O st At £

(A) SIS <X U gl X F ot gay
Tof fagerao 21

(B) iferw faweryu )
(C) sTogemrei fergersm &1
(D) 3fyshem 1 $1E = T8 w3 T

Hia s a%g & gea R 15 wfavm &t X
T AT WY €

(A) FEHIER WH
(B) ferdr wrgre=s

(C) v Ty

(D) 39 H 9 HE el

foes e o9 weEl %1 fpw =Y ° weEE
e T 8 ?

(A) A iR oy
(B) UsrHifae @R fawa
(C) UsrHifas iR snfefer
(D) ST & | HE T

SPACE FOR ROUGH WORK / 7% &T1d & fordt wre
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70.

71

72,

Assertion (A) : Green revolution has 70.

widened the regional disparities in terms
of agricultural development.

Reason (R) : Agricultural resources are
unevenly endowed among different
regions in India.

Code :

(A) Both (A) and (R) are individually

true and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are individually
true and (R) is not the correct
explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

The slope of Transformation Curve is  71.

given by

(A) MRTyy

(B) MRSy

(C©) MRTS;¢

(D) None of the above

The set O of odd positive integer less than  72.

10 can be expressed as :
(A) 1,23

B (1. 3.5:7:9)

< @357

(D) (1,3,5,7 11)

afrweT (A) : 3@ wifa o &sfa Srmmd
1 i forpra % w0 ¥ fawqa o 2

HTTOT (R) : Fit Heeht wefil =i semeE 9
¥ 9 ¥ fafay zumi & yafa o )

&
(A) (A) R (R) 2 Fafas w9 @ 9 €
TH (R), (A) it TE SR B

(B) (A) it (R) S Safeme w9 @ T €
T (R), (A) F G = T 8

(C) (A) T &, T (R) 319 B
(D) (A) 378 T, TG (R) 94 B

T F56 1 WO fear o €

(A) MRTyy
(B) MRS,y

(C) MRTS
(D) SWE H § FE T

10 ¥ %5 faum yAES s *1 92 O 51
e foa s T ©

(&) (1.2,8)
B) (1,3,579
(C)- 1,3:5.7)
(D) (1,535 7 11)
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73. MSMEs are granted loan on concessional ~ 73. MSMEs #1 fam@edt = 2t 1 30 w@iehd
rate of interest so they may develop and T s @ fowd & viw forrfiga oo foram
expand rapidly. FEE |
Reasoning : More employment may be RIOT : HH "I?ﬁ H sifyys SR =1 G &
created at low capital. O |
(A) The policy is right to create more (A) F9 Tt W AR goH ¥ fau Hifa
jobs at low capital. GEEA

(B) Non-recovery of loan is a problem - (B) R =t Tl 7 @ uw wwen §
hence, it is not correct policy. 74 forg 3z wedt A 7 &)

(©) (A) is partially right. (C) (A) ifer® ®9 & T &

(D) (A) and (B) both are partially (D) (A) 3R (B) I anifers w9 & T ¥
correct.

74. Ricardo suggested which of the following ~ 74. 31f¥% 3fg ¥ forw ferel 3 fem i =7
policies for economic growth ? TamE fear on ?

(A) government intervention in (A) nfefs 7el § TR 1 smay
economic matters

(B) Free Trade (B) Ha& =MR

(C) Population growth to be controlled (C) <FEer d & @ 3f = Frefm s

(D) Competition to be regulated (D) wfeeret =t Frafa we

75. The income earned by an Indian on its  75. U Y& Ry svafia # firu v fdwr ™
investment in USA represents : afsia s -

(A) Current account of India’s BOP. (A) YT % YT 99 % =e] @i 1 e
B
(B) Capital account of India’s BOP. (B) WRA % T I9 & it @ fermy
&l
(C) The official settlement account of (C) emMfE & ymam I ¥ WEHE |
USA’s BOP. & 1 fewm 2
(D) None of the above (D) SS9 A ¥ $E
SPACE FOR ROUGH WORK / 1% &4 & ford wmig
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76.

77

(a) Amittab Kant

(b) N.K. Singh

(c) Rajeev Kumar

(d) Bibek Debroy

If OLS is applied separately to each
equations of a simultaneous equations
model. The resulting estimates will be :

(A) Unbiased
(B) Biased but Consistent
(C) Biased and Inconsistent

(D) Consistent

Match the following :

(i) Chairman, Prime
Minister Economic
Advisory Council

(i) Vice Chairman,
NITI Aayog

(i) Chairman, 15t
Finance

Commission
(iv) CEO, NITI Aayog
Codes :

@ @G @© @

(A) @) @) @O @)
(B) (v) (i) () (i)
(©) (v) @) @) @
(D) (@) (v) (@) (@

76.

o G HEw H Y e W
T | OLS 1 T T, IHeherd el -

(A) Froaw
(B) T Y G
(C) veIw S T
(D) HHm

77. gufea Hifs

(a) SAfHaTS (i) AT, QA
Fid anfeier gemeEsr
gfug

(b) T (ii) Sureme, ifq s

fe

(iif) 3TeA, 15 A1 fa=
SN

(c) TsiE FHR

(d) fodes T (iv) WA, Fifa smEm

@@ (b (9 (4
(A) @) (@ @ @)
(B) (iv) () () (&)
© (@v) (@) @@ 3@
(D) @) @v) @) @

SPACE FOR ROUGH WORK / T% &4 & ford smg
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78. In measurement of economic 78. 3 foFwm F ums § 'S w oifew
development the value of “Physical TTerd] Yerehieh (PQLI)"' ol Hed BT € -
Quality of Life Index (PQLI)” lies
between :

(A) 0 to 100 (A) 09100 % 7%
(B) Otol (B) 0¥1%F 4wy
(C -1tol (C) -1¥1% 74
(D) 0 to 1000 (D) 0¥ 1000 % 7
79. Money Multiplier is determined by : 79. HEl otk fAuior fea s #
(i) H (High Powered Money) (i) = wfs 9l go1 (H) 510
(i) Cr (Cash Ratio of People) (i) T Sl ARGl S (Cr) TR
(iii) RRr (Required Reserve Ratio) (iii) AEYFH e I (RRr) 5N
(iv) ERr (Excess Reserve Ratio) (iv) @fafe s s1qam (ERr) g1
Code : %< :
(A) (i), (i), (iii) and (iv) (A) (), (i), (i) 3 (iv)
(B) (i), (i), (i (®) (i) (i), (i)
(©) (i), (i), (iv) (©) (i), (i), (iv)
(D) (i), (iv) (D) (i), (iv)

80. Fiscal Policy will be most effective when : 80. USRI Hifa walfus wumawet St € - & -

(A) The slope of IS curve is zero and (A) IS STIH=1 = @& Y= a9 LM STg=
slope of LM curve is more than zero. =1 3 YA 9 A g

(B) The slope of IS curve is zero and the (B) IS S %l &l I a1 LM STE=
slope of LM curve is infinity. 1 @I 3 Bl ¢ |

(C) Slope of both IS and LM curve lies (C) IsTw LM =M1 STHgf==i 1 @t =
between more than zero and less q 31fyek a9 o0 § FH e 2
than infinity.

(D) Slope of IS curve lies between more (D) IS Y= 1 T YA ¥ Aferm qe
than zero and less than infinity and T W HH T LM ST H e
slope of LM curve is zero. A F IO B

SPACE FOR ROUGH WORK / 7% @&1d & o wg
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81.

82,

Which one of the following is the correct
order to measurement the economic

development ?

(A) PQLI, Basic Need Approach, HDI,
PPP

(B) Basic Need Approach, PQLI, HDI,
PEP

(C) Basic Need Approach, PQLI, PPP,
HDI

(D) PPP, Basic Need Approach, PQLI,
HDI

If one has to draw a linear supply curve
showing unitary elasticity throughout, it
shall be

(A) a straight line originating from
Y-axis.

(B) a straight line originating from
X-axis.

(C) a straight line of 45° starting from
the origin of the graph.

(D) a straight line of any angle starting
from origin of the graph.

81.

82.

aTifefer farehrd & g1 & AN 1 W oA
e

(A) S =1 sifgs o e,
SURYT SATEIYTHA GATTH, HHS
faepra gesie, Fwavfe qra fafy

(B) STHRYT STETIHA T, Sita =1
sfifass TurEn fdenies, wra fawm
Haish, HAvfa qHar fafy

(C) STHRMNT ¥l TIH, Sfad F
iferes TorErn R, sHEwiR G
fafy, wra fawe Ya=is

(D) wawfw wuar fafy, smuryq
HTEYEHA TN, Staw #1 wifas

Tfe W AT IEs Il 956 FhEE Toareedl
9 F EE G e, TR TR

(A) T HiH @ Y-38 | I EA ¥
(B) T el T X-1&1 § 9 &Nl B
(C) T 45° % et T WE F I TH

W WY Bt €

(D) TS & T T § W B Al fehdi
101 1 TH HiH @)
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83. The Chairman of a public sector bank in ~ 83. 9Rd § WESa & & & o998 =1 Fgfa

India is selected by . g I W 7

(A) Reserve Bank of India (A) e fsd 9%

(B) Ministry of Finance (B) o W

(C) Board of Directors of the concerned (C) wafya % & Ry dea
bank

(D) Bank Board Bureau (D) <% &€ =

84. An expansionary Monetary Policy and  84. Taxafia Hifes qen usmerifo Fifq e wdt

Fiscal Policy Shifts : ¥

(A) Aggregate demand to the right (A) |97 | H TE 3R
(B) Aggregate demand to the left (B) EWU HIT I 18 AR
(C) Aggregate supply to the right (C) wwY qfd = X 2R
(D) Aggregate supply to the left (D) T=g gfd #I a3

85. “Catch-up hypothesis” has been 85. ‘‘&9-319 uftwewm’’ =1 ufaures g

introduced by which economist ? sFefeTeT BT R 77 2
(A) Dennison (A) =

(B) Paul Romar (B) dia I

(C) Moses Abramovitz (C) SIS stamHIfaes
(D) Weblen (D) =
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86.

87.

88.

Second differencing in time series can
help to eliminate which trend ?

(A) Quadratic Trend
(B) Log Linear Trend
(C) Linear Trend

(D) None of the above

In a closed Economy, the Marginal
Propensity to save and tax rate increases.
What effect will this have on multiplier ?

(A) Increases
(B) No change
(C) Decreases

(D) Negative

A researcher wants to study whether a
two-wheeler buyer would buy a “Nano”
Car ? The selected sample in this case
would primarily consist of :

(A) Nano Dealers
(B) Two-wheeler Dealers -
(C) Two-wheeler Owners

(D) Nano Car Owners

86.

87.

88.

et Juit H gud favawma frg wofa %1 @
FA H IS HT Gohdl B2

(A) Teum wafa

(B) w1 e wafa
(C) fE= wafa

(D) TR § FE T

TF I HfeAeed # Fwd b gyt
el W H gfg I W, To0F W F g9
BRI ?

(A) dfg
(B) g S el

T Wehv 9 ST =1eal & fF = enafea
G{EER HH FR @l w2 3w iy o
=Aa e ¥ 7 w9 & wnfer 2

(A) i Ser

(B) Trafean e
(C) <t ufean miferw
(D) ¥ R Hiferw
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89. Production function Q=AK®LP, the  89.

marginal product of labour (L) can be
written as :

(A) AaKeLp-1

e

=10

(DY . (o B)%

90. Arrange the region of Asia in decreasing 90.

order as per India’s imports in 2016-17.
U8 Sowth. A

(b) ASEAN

() North East Asia

(d) West Asia

Code :

(A) (), (d), (b), (a)

(B) (a), (b), (c), (d)

(©)  (d), (¢). (b), (a)

(D) (b), (), (d), (@) -

Q= AKLP I HeH | 49 (L) &1 Haw
Ieare feran = we ® -

(A) AoKoLB~!

RO

L

mlle}

© B

a9 2016-17 % YA & 9@ | TR & &3
& ¥2d Y § SAgied sifag |

(a) <o ofimn
(b) @fEIM

QR

(d) = aferen
BBV

(A)  (©). (d). ®). (@
B) (@), (). ()
© (@ () ®) @
(D) (o), () (d), (@)
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91.

92.

93.

If a qualitative variable has “C”
categories, how many dummy variables
must be created and used in the
regression analysis ?

(A) C-1
(B) C
€) C+1

(D) C-2

Which economist has given the micro
theory of income distribution ?

(A) Kaldor
(B) Mahalnobis
(©) J. Mead

(D) Rosenstein Rodan

Arbitrageur in foreign exchange market :

(A) attempts
outguessing the markets.

to make profit by

(B) make their profits through the
spread between bid and offer rate.

(C) take

inconsistencies

advantage of small

that develop

between markets.

(D) need foreign exchange for buying
foreign goods.

91.

92.

93.

Ffe omeres = H “C” gt & g
fergeteor § forea =R =R a9 T SR 3TEm
F 2

(A) C-1
(B) C
() T+1

(D). C=2

g oo =1 wnfe fagia fea sttt
FIE?

(A) TR
(B) WErEHIfag
© =7
(D) S e

feigTsR faceft ge1 = &
(A) S FI 9= Big oY F9[ )

(B) Tore 3R 311w U & o™ war § ey
FHHT |

(C) =R % 9 fomwfag € aet 3
Taemfeat =1 oy 38/ 2

(D) forell e wiie & forw ol qa
P ATITIHAT Bt B
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94. Sex ratio as per 2011 Census in Indiais: 94, 20113 SFIUH] % SR, KA § fef e
&
(A) 940 (A) 940
(B) 932 (B) 932
©) 914 (C) 914
(D) 1084 (D) 1084
95. Assertion: Reserve Bank of India declares 95. 3AfMeRe ; fed % Rkl & wa wfaam R
Repo Rate and Reverse Repo Rate to 2 & =Y erdr SHESE gfadr F g
control the inflation under Liquidity qErehifa T A0 & & foe & €1
Adjustment Facility (LDF).
Reasoning : Additional quantity of =T : 0 = % g sfafem awem s
liquidity is issued through Repo Rate and LAl ¢ SR yfaes il © % g aer #
liquidity is returned back through Reverse a9 fern S #
Rate.
(A) Itis éf_fe&ive monetary instrument (A) HeEreElfd @ el # #1 gvasi
to control inflation. Hii® A ¢ |
(B) It is effective monetary instrument (B) #th % G UTeehi ol FU Widhd H
for granting loans to customers by T FTEIE! H9E B
banks.
(C) (A) and (B) both are correct. (C) (A) iR (B) S W&t €1
(D) Only (B) is correct. (D) ad (B) 9&l T
SPACE FOR ROUGH WORK / T% & & fod wmg
Set - A 9210/TFU-ECO/ELG-IT



i gfg & gl H, Yot 9w 3T o

96. In the context of economic growth, 96.

97.

increase in the capital labor ratio is termed e FR @R :

as :

(A) capital deepening (A) ISt 1 TR FE
(B) capital widening (B) STt = wEIE wE
(C) capital consumption (C) Ysit =i =7 HT
(D) capital substitution (D) ‘i\?ﬁ EaRRISINE]

The level of significance in the testing of  97.

Hypothesis is used for :

(A)

(B)

The probability of Type I Error

The probability of Type II Error

qiweq 1 % Teed o wdfear & @ #
W%:

(A) WM YR i Jfe Hi wfawar
(B) fadita W =1 Ffe +t wigepar

(C) The probability of accepting wrong (C) 7o 9heqT & WHR HH HT
Hypothesis iRt
(D) Confidence limit (D) favars=ar i
98. The standard deviation of two series 98. QWA'E{EI' B%Wﬁl—q’ﬂ?ﬁmﬁ&

A and B is same, but the Arithmetic Mean
of A series is greater than B series. Thus

R A AUt %1 THIRR WL B ¥ HEA @
fess 1 31@: A Aot =1 fasem 1T, B

the co-efficient of variation of A series to goft % farsrer urie 9 ;
B series will be ;

(A) Less (A) =HHEM

(B) Greater (B) 3= B

(C) Equal (C) =B

(D) None of the above (D) I9UE H | HIE I
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99. Which Statement is given by Keynse ? 99. I F NI HI T FHYUT FE T E?
(a) Employment theory is the theory of (a) TR %1 fagia, wyragot =i = fagha
effective demand. gl
(b) Supply creates its own demand. (b) fef 3ToT W GO @ w E
() Employment can be increased (c) TSIgH HI HTeh USTIR 1 QAT 571
through wage cut. 1 €|
(d) Full Employment Equilibrium may (d) IO TSR He ST = i TR
be achieved through increasing AT feran T ekl € |
consumption expenditure.
Code : %< :
(A) (@), (), (c), (d) (A) (a), (b), () (d)
(B) (@) (b). () (B) (a), (b), ()
(©)  (®) () € (®) (9
(D) (a) (D) (a)
100. National Food Security Mission has been ~ 100. T @ gien favm =1 a9 & wriy fen
launched from the year : T
(A) 2007-08 (A) 2007-08
(B) 2008-09 (B) 2008-09
(C) 2009-10 (C) 2009-10
(D) None (D) e &
-00o0- ~00o0-
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waif‘maﬂ%wm:za% ayfereRaw 3i@® @ 200
Maximum Marks : 200

Time for marking answers : 2 Hours

|

1. ww—gmﬁlmaﬁﬁﬁw%-mmzaﬁm%t Foft W T N At
5. U % IO, & T SN THR-HE (siER-vie) W i Ffee

3. T A TE feha S

4. fﬁ&?%ﬂaﬁ%%@amaﬁmqﬁﬁaﬁﬁtﬁﬁﬂmaﬁﬁ%l

5. aﬁ.qq.am.w—sﬂz(m—ﬁz)mmmwﬁ#mmﬂﬁ/aﬁmﬁ%maﬁ
mwﬁtﬁsmwmwaﬁmwaﬁwamt

Note :

1.  There are 100 objective type questions in this booklet. All questions are compulsory and cary
two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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